“/lopory oCUMINT NAYLWMH,
a MHPOPMATUKY -
MbICAWMMN”

[tocTaB MMMom

/IBOMYHAA cUCTEMaA
CYUCNEHUA



3aJa4M ypoKa:

- [lepeBOAMTb U3 IBOMYHOU B
necatmnynyto CC;

~ [lepeBoAUTb U3 AECATUYHOM
B ABOMYHYIO CC;

= U3YYUTb apUPDMETUKY
[IBOMYHbIX Yncen.




[lpeacTaBbTE YMCNO B
BUAE CYMMb
pa3pAAHbIX e AMHUL

333,




JTO pa3BepHyTa“
dopMa 3anmucu

333, =3*10° +3*10'+3*10




3agaHue:

3anuiumMTe B pa3BepHYyToM popmMe
yncna

| BapnaHT 3562,
Il BapnaHT 2864,

3562,,=3*10% +5*10%+6*10" +2*10°
2864,,=2*10% +8*107+6*10" +4*10°

BepHas 3anumch - 1 6ann



3ajlaHue: 3anuuimTe B
pa3BepHyTOU hbopme
asonyHoe ymcao 1001001,

1001001.=1 *26 +0%*2°+0%*2%+
1*23 +0*22+0*27+ 1*20

BepHasda 3anumcb - 1 6ann




3agaHue: [lepeBegute
ABonyHoe yncno 11101, B

NEeCATUYHYIO CUCTEMY
CYMC/IeHMS

11101 —1*24+ 1%23 +1*22+0*2'
1%20 £16+8+4+1 =29,

BepHas 3anucb - 1 6ann




Kak ocywecTtBuTb 06paTHbIU
nepeBo AeCATUYHOrro Yymcaa
B ABon4Hyto CC?
Hanpumep 4yncno

18,

10010,=1%2%+ 0*23 +0*2241%2"+ 0*2° =16+2=1
+-—




[lony4yaem 4ymcno
37.,=100101,

37 2 1 A
18 2 0 a1

9 2 1 a2

4 2 0

2 2 0 a4

1 1 ab




[MpaBM/1a 4 BONYHOM
apU(PMeETUKH

- 0+0=0 0*0=0
- 0+1=1 0*1=0
- 1+0=1 1*0=0
- 1+1=10 1*1=1




Cnacubo 3a ypokK!
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